N = 0l & At & M A

20154 H AR =

H
o
2
>
ne
o
ton

SN QB AR

g Ngos =24
9l ClARY (S &2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O3 AR 2 945,135 916,916 28,219
Xgols 24 924,981 893, 262 31,719
AN=2E 15,712 13,024 2,688
O MRSy 15,712 13,024 2,688
201 Let24dy] 11,712 9,024 2,688
01 At 2teltl 11,712 9,024 2,688
OoFJIAnd=E 7= 1,512
INR=IDADN| 7,000 «32 + 122 252
MERS 1,260
- S 15,000 x32 122 540
- XA&X 12,000& x5 128 720
OAFARAHSs =AXR AEUR
600, 0003 x8H 23] 9,600
OAENESNHE AS U= 300,000& »2H 600
202 04l 1,800 1,800 0
01 = LH o4 1l 1,800 1,800 0
Oo¥EusndE Ws0H| 300,000& 6H 1,800
203 R =X | 1,600 1,600 0
03 A=A H =AY 1,600 1,600 0
O3z =& 1,600,000 1,600
405 XHoHF S HI 600 600 0
02 =M=l 600 600 0
OYF3zd &AM 20,000 302 600
SHES 909,269 880,238 29,031
¥Es A& 851,909 822,878 29,031
101 @124 dl 21,857 28,919 AT,062
04 12t Z2XREES 21,857 28,919 AT,062
Ol #HA @ 2tel (1Y) 21,857
QI 24l 63,3303 250 15,833
- =Xt 63,330& 522 3,294
- Xt 63,3302 12 760
ZUHSEERES 19,887,000& x4 .5% 895
IEBERES 19,887,000& *1.5% 299
MHEERES 19,887,000& *0.7% 140
S0ALEERES 19,887,000& *2.995% 596
LRI QRABERE S  596,000&6.55% 40
201 L4l 33,752 53,759 A 20,007
01 At 22l 22,264 43,017 A 20,753
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SN QB AR
Bu: TYols 2

Sel: oZES (ol @)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
O3l9 2 AMAIAHY QX2
30,000,000 *12% 3,600
O d=2 I}t H & 10,000& *3005% 3,000
Ocdes 2= M 15,000& x1005 1,500
OZAE & EEH M2 10,000& * 1504 1,500
O3glo s g2t 9,800
- 2AAlE 600, 000& *83] 4,800
dd 3 2,500,000& *23] 5,000
OL3ANRL 2HEE 1,890
YO EEED EY 190, 000& *3H 570
- 2AMEX 20,000& =108t A 200
CAMBEES 400,000 400
- A& OIS} 300& *2000H x12& 720
ooz ad e 974
gal 2 S0l HE(08,H2E)
3,000 13071 390
=23 o & A22E 400,000& 400
=239/ & A1t ME 8,000& 231 184
02 33249l 11,488 10,742 746
OFUE AIS 900
ez 45,000 1t =128 540
AEZ 30,0003 *1CHx12& 360
O NRE REEANZ 30,000& x12& 360
OPNE=2=IN 7,326
SIPSE=4 4,810,000 = 1CH 4,810
qeE 2,516,000& = 1CH 2,516
oxgeEg = 703
oNME 317,000 ~1CH 317
gee 386,000& = 1LH 386
OX S RHA 999
OlNME 200 *2,493cc 499
HES 200 *x2,497¢cc 500
OoREz 100,000& x12& 1,200
203 ¥ R =&H| 3,200 3,200 0
03 A=A SR =AH| 3,200 3,200 0
OIMNP=2 RN 3,200,000& 3,200
205 2|3/ Hl 757,800 711,000 46,800
01 9 &&=t 198,000 198,000 0
Oy & st 900,000 x15H x12& 162,000
SXESH| 200,000 x15H x12& 36,000
02 28 397,800 351,000 46,800
Ogds4Y 2,210,000 x15H x12& 397,800
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2N AEARE
o Ngols 29
Sel: oFES CERED
SA-3H-S(3AH) - MRAS - BES Off &t 24 %Ei HnE2
05 Y S TS A 64,800 64,800 0
OSAYSYTE ZH 4,800,000 « 152 +90% 64,800
06 olsleYLRETY| 69,660 69,660 0
Oclsl2y =y 69,660
o% 2,400,000% « 12 » 128 *90% 25,920
SO 1,200, 0008 * 1%+ 122 «00% 12,960
SRR 900, 000! *3%) * 128 *90% 29, 160
EREE 900, 000! *1 2 +22 Q0% 1,620
08 ARNZAIRED 15,660 15,660 0
SRR 87,0002 *15% + 122 15,660
09 B AARED 1,880 11,880 0
OdERLAALLS 1,880
[OAALHLYS 60,0008 *15% 122 10,800
TSR E TS
6,0002! ¥ 152+ 122 1,080
304 ABRSBES 20,000 20,000 0
03 oA LoRYS 20,000 20,000 0
SEEPL B 20,000,000 20,000
405 Tt &HE St 15,300 6.000 9,300
IR EEEEE 15,300 6.000 9,300
OSABARA F XA 3,000, 00024 *1CH 3,000
OSABARA A 300,000 +1CH 300
OLES 1,200,000% * 10CH 2,000
ClEInk 57,360 57,360 0
201 Yer2 | 560 560 0
01 AFR 22| t] 560 560 0
Oolgl BLAANY AAES BALT
70,0008 *42 x23] 560
202 Of 12,800 12,800 0
NEREI 4,800 4,800 0
Oozels o EDI2 HIRAE § &8
00,0002 +82 +33] 4,800
03 221201 8,000 8,000 0
OHEOIS HIMAIE 48 2,000,000 *4% 8,000
205 I 3] bl 44,000 44,000 0
03 & = Li 01 bl 9,000 9,000 0
OzeL8IY Ot 9,000,0002 9,000
04 o/ = 2l 0l 30,000 30,000 0
OMZIS HIDAIE 30,000, 0002 30,000
07 ABSBAMEE S 5,000 5,000 0
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